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1 100kN/mM#%#B x5 1.00| 0.00 ~ 0.53 107.84 [3m%EHEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [10.74 ~ 12.20 107.84 [3m%EEZ 5 -~ - — —
zhs 1.00 | 053 ~ 8.31 100.00 | Z#hList | 000 ~ 831 | 229 11.59 zh s 1.00 | 5.00 ~ 10.74 100.00 | Zh st | 5.00 ~ 1220 | 2.29 11.59
2 100kN/mM#%#B x5 1.00| 0.00 ~ 048 107.11 |3mZEF{EZ S -~ — — —| 100kN/m%#%%| 1.00 (1082 ~ 12.30 107.11 |3mZEFREZ S -~ - — —
zhs 1.00 | 048 ~ 827 100.00 | Z#hList | 000 ~ 827 | 2.08 10.49 zh s 1.00 | 5.00 ~ 10.82 100.00 | Zh st | 5.00 ~ 1230 | 2.08 10.49
3 100kN/mM#%#B x5 1.00 | 000 ~ 0.61 109.14 [3m%ZEEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [10.72 ~ 12.60 109.14 [3m%ZEEZ 5 -~ - — —
zhs 1.00| 061 ~ 840 100.00 | Z#hList | 000 ~ 840| 2.10 10.60 zhs 1.00| 5.00 ~ 10.72 100.00 | Zh st | 500 ~ 1260 | 2.10 10.60
100kN/mM#%#B x5 ~ 3ImZHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#B x5 ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImZHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImZHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImzHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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